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Note/™Z :

(326)

This paper consists of Objective Type Questions and is divided into Five
Sections (I to V) as under :

TR WA-99 SEfehedid Y W@ ® qen wie @udl (1@ V) § faswe 2, S
fs $= aftfa @ .

(1)

(2)

(4)

Sections I, II, Il and IV are compulsory. In addition, a candidate is
required to answer questions on EITHER English Language OR Hindi
Language (Section V).

wWog I, II, M 3 Iv aifad &) sa% sfafes snaeff = ofish s ey
&R 9w (woE V) F e F I 2§

There are in all 180 questions. Attempt as many questions as you can.
Each question carries 3 marks. One mark will be deducted for each

incorrect answer. Zero mark will be awarded for each unattempted
question.

Fd 180 YW &I Ifuwfus vl F IW A T WA F IF T\ 3 37T &
B Y% T IW F o uw o @ Wom| TRF s W w Wi
A A

Each question is followed by Four alternative answers (1), (2), (3) and (4).
Only one of these answers is correct. Select the correct answer and
record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

YOF T F AR AFIE IW gEe ¥ /R (1), (2), (3) aW (4) I A
ZOfEl T R T W Faw wh @ I @d 2 @d I W wE Bfm aw
3G Hhd W IN-T A gl W F Ay Ffwmgan st ga (o) @
T TETge U I FIEl Feh uiEy |

If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afe THIfe® JFF I T IW F P i @, A Fweam @@ 3w

1 (P.T.O0.)
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1.

(326)

Section—I
wug—I
(Accountancy and Business Organisation)

(ATTHA @ AEEE e )

Which one of the following is not a part of accounting process?

(1) Recording (2) Classification (3) Distribution (4) Interpretation
fmifra @ F-w1 daEA TR w1 e T R0
(1) e (2) =ffem 3) faam (@) ==

This is the most scientific, complete and accurate system of accounting

(1) Single Entry System (2) Double Entry System
(3) Hindustani System (4) Cash System

g d@iE fil watfus A, gof @ oad vt R

(1) wwed wiafd yomeft (2) feufafy worreft

(3) fergwarft yoreh (4) ¥F3 woreh

Which one of the following is not a stage of Double Entry System?
(1) Books of Original Entry  (2) Posting

(3) Trial Balance (4) Suspense Account
frifra & @ wa-d) RRyfafy yoeh f ok orawen & 27

(1) #tfes wfafs f geak (2) e

(3) dege (4) fssm @
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4. The amount brought in by the proprietor in the business should be credited to
(1) Cash Account (2) Capital Account

(3) Drawings Account (4) Income Account

wift & g ean ¥ @ 1 Uiy wuwelea (S f el @
(1) %z a@ § (2) st @@ o (3) W@ A@ §  (4) o™ @ A

S. The return of goods by a customer should be debited to

(1) Customer Account (2) Goods Account
(3) Sales Returns Account (4) Sales Account
et o g oo agd @ (fawfe) f I afd

(1) uTeF @ (2) @ A@

(3) fosha Fweh @@ (4) fawa e

6. Sales made to Mahesh for cash should be debited to this account

(1) Cash Account | (2) Mahesh

(3) Sales Account (4) Goods Account

W # fFn T TR foww W 9w # sl () # s aif@

(1) V&g @ (2) wWewW (3) fawa <@ (4) T @@

7. Business transactions are recorded first of all in the
(1) Journal (2) Ledger

(3) Trial Balance (4) Final Accounts

(326) 3 (P.T.0.)
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Ay aed] & gayyd Hfiergs @i e 9 R
(1) 9sft (2) Wi (3) dTwR 4) wf<m Qg

8. Office equipment purchased on credit will be recorded in the
(1) Purchase Account (2) Office Equipment Account
(3) Goods Account (4) Capital Account
3un %9 frm m FEfew uww @ d@ @ fEn s
(1) %3 o@ (2) *mafed IUHE A@
(3) W& @ (4) st S
9. Revenue is said to be realised
(1) when the sales are made
(2) when the goods are manufactured

(3) when the goods are despatched

(4) when cash is received

ar affa A s @

(1) v fasea fomn sran @ (2) v ue fafifa € &

(3) w& Wi AN W4 & (4)sfammé€ﬁﬁ%
10. Sales are equal to

(1) Cost of goods sold + Profit

(2) Cost of goods sold - Gross profit

(3) Gross profit — Cost of goods sold

(4) Cost of goods sold + Closing stock

(326) 4
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fasra Toar 2
(1) fofa 9mer &t omm + @ 2) fafm v N oA - Twa @

(3) dFa1 @ - fasha 7 N eI @) T W@ A T+ wf=m ==y

11. Interest on drawings is

(1) an expenditure (2) a revenue

(3) a business gain (4) Neither expense nor gain
AR W = B

(1) @ = @) w sm

(3) & =EEfiE Wi 4) 7 =g 3 T @ wiy

12. Outstanding salaries are shown as

(1) an expense (2) a liability (3) an asset (4) a loan

FHEMAT Ja9 B 3@ &9 § ot aww R
(1) T =@ (2) T (3) wh wrfw (4) & Fm

13. Which one of the following is not a cause of depreciation?

(1) Wear and tear (2) Efflux of time (3) Obsolescence  (4) Inflation -

frifea o @ S9-a1 3@ &1 Fwo T8 27
(1) framae (2) @99 =flq q (3) e (4) Terehifa

14. Depreciation does not arise in the value of this asset

(1) goodwill (2) furniture (3) machinery (4) plant

(326) 5 (P.T.O.)
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15.

16.

17.

(326)

W N % qea § §@ I @ ofan R
(1) wnfy (2) R (3) wf= (4) @I

Which one of the following is not a current asset?

(1) Debtors (2) Prepaid expense

(3) Stock (4) Office furniture

frrifer & & 39w wre Wiy a8 27

(1) &R (2) T = (3) =y (4) wrteE wHfe

Receipts & Payments Account records receipts and payments of

(1) capital nature only (2) revenue nature only
(3) capital and revenue nature both (4} None of the above
Wi T yE da ¥ Wil W e e e s 2

(1) ¥aa {sfma wpfa & (2) Faa JWTE TH F
(3) 4 3 s -t F (4) IT® ¥ A T

If the rate of gross profit is 25% of sales and the cost of goods sold is Rs 1,00,000, the
amount of gross profit will be

(1) Rs 20,000 (2) Rs 25,000 (3) Rs 33,333 (4) Rs 40,000

aﬁmmﬁaﬁmﬁ%%%amﬁﬁamﬁam1,00,00050%,?&%@1
$ ufyr Brf

(1) 20,000 %o (2) 25,000 %o (3) 33,333 %o (4) 40,000 %o



18.

19.

20.

21.

(326)
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If the rate of gross profit is 20% of cost of goods sold and the sales are of Rs 1,00,000,
the amount of gross profit will be

(1) Rs 20,000 (2) Rs 22,500 (3) Rs 25,000 (4) Rs 16,667

aﬁmmﬂﬁaﬁamﬁmmm%%sﬂtﬁm1,00,00060%1%,??(%31&1@
afyr gf

(1) 20,000 %o (2) 22,500 %o (3) 25,000 %o (4) 16,667 %o

The cost of a machine is Rs 55,000 and its residual value is Rs 5,000. According to the
straight line method the annual depreciation at the rate of 10% will be

(1) Rs 5,500 (2) Rs 6,000 (3) Rs 5,000 (4) Rs 500

mmﬁqﬁm55,00060%wmmnﬁs,ooom%lwmm%m
10% i T W s @ h

(1) 5,500 %o (2) 6,000 %o (3) 5,000 %o (4) 500 %o

A departmental business is one which has

(1) many branches (2) many departments

(3) many shops (4) many business

w fvrfla =aaw a' @ foes /@ €

(1) 3F% wmEnd (2) 3= faum (3) mga?ﬁ (4) 3% =IE™

A maximum number of persons permitted as partners of a firm is
w w A gEeEr % &9 3§ wfed f orfiem gem anft 2

(1) 10 (2) 15 (3) 20 (4) 30

7 (P.T.0.)
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22.

23.

24.

25.

(326)

In the absence of an agreement, the partners are not entitled to get this

(1) profit and loss (2) interest on loan

(3) salary (4) None of them

T % a9 H, 9ReR 98 TR % R aifuga T @

(1) =9 qen &4 (2) F | =S (3) e 4) 30w A & F8 T

X and Y share profits and losses in the ratio of 3:2. They admit Z for %th share in
profit. The new ratio of distribution of profits will be

X qay @m-gft 3:2 % ogma A W T I Z W owm F L oam F @ oww R E
Y-8 faewor @1 T sguw &

(1) 3:2:1 (2) 3:2:2 (3) 4:1:1 (4) 3:2:3

A and B bring capital in the firm according to their profit sharing ratio, i.e., 2:3. If A
brings Rs 50,000 as capital, what will be the B’s capital?

(I) Rs 60,000 (2) Rs 70,000 (3) Rs 72,500 (4) Rs 75,000

AT B o A A 2:3 % a-gft e ¥ omum § §h em ¥ afy A O % w9 §
50,000 Fo @@ B, @ B # ¢t w1 af?

(1) 60,000 %o (2) 70,000 %o (3) 72,500 %o (4) 75,000 %o

In which year, the Indian Partnership Act was passed?

wzﬁaa@aﬂaﬁ:ﬁwﬁaaﬁmﬁagmm?

(1) 1956 (2) 1961 (3) 1932 | (4) 1947
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26. A written agreement among partners for mutually conduct of business is called

{

(1) Contract (2) Deed

(3) Mutual Consent (4) Promissory Note

=EEE F TER TOed & ol gRed ¥ f9 fafea anstar seem 2

(1) ey (2) &@ (3) wER wEAfa (4) sl

27. Goodwill of a firm is

(1) current asset (2) fixed asset

(3) intangible asset (4) fictitious asset

w W R el R

(1) =me gwafy (2) Tt smfy (3) anqd gwafy (4) Ul grafd

28. Promoter of a company is

(1) a trustee (2) an agent

(3) trustee and agent both (4) None of the above
@ T F TEdE R

(1) & = (2) TH srfirFt

(3) =mft 3 firat S (4) I0H A A RS T

29. Which one of the following is not a part of the Memorandum of Association?
(1) Name Clause (2) Object Clause

(3) Capital Clause (4) Rules and Bylaws

(326) 9 (P.T.0.)
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frifrs & & ®9-w undz i fram w0 o T 27
(1) ™ aE (2) W aTH (3) dsh (4) frm a 3ufmam

30. This document is not required to be submitted to the Registrar at the time of
registration of the company

(1) Memorandum of Association (2) Association of Articles

(3) Prospectus (4) Statutory Declaration

FOft & Uoftad ¥ G99 98 WO TWER B oW 6 oTawEE T8 2

(1) ung dm frag (2) urfg arfm (3) wfam (4) i =rson

(326) 10
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Section—II
@WUs—II

(Economics and Money Banking)
(ardfymrer v g dfeT)

31. The author of the book Principles of Economics is
(1) Henry Fayol - (2) Alfred Marshall
(3) Kindleberger (4) Bertil Ohlin
Principles of Economics J&% F ATH &
(1) 3 wara (2) IEHT A (3) ferseatR (4) =fear Nefem

32. Who was the first economist, who challenged the classical theory?
(1) G. B. Heblerar (2) C. Kindleberger

(3) B. Ohlin (4) Marshall
g v erdwrel w1 o fma whfig fagma & gl @7
(1) sho sfto Famw (2) #o fFematR
(3) o aiefem (4) wmfa
33. The author of the book Wealth of Nations is
(1" Adam Smith  (2) Prof. Ricardo (3) J. S. Mill (4) A. C. Pigou
Wealth of Nations T&% & Tfiar &
(1) wsw fay (2) Wo el (3) o wo i@ (4) To o dip

(326) . 11 (P.T.0.)
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34. According to Ricardo, the number of factors of production is

farst % orqER, IAET % weH A wEwm R

(1) 1 (2) 2 (3) 3 (4) 4

35. An example of Joint Demand is
(1) pen and ink (2) magazine and newspaper
(3) bus and train (4) ghee and oil
TYH 9 F TH ITE 2
(1) Fom g @& (2) bR @ srgar

(3) =@ @ A 4) =t @ AW

36. Which of the followirig commodities has inelastic demand?

(1) Shirt (2) Car (3) Foodgrains (4) Cycle
frerifen § 3 5w wg B AerT W AR 22

(1) s (2) #R (3) 3= - (4) TwEfEa

37. Who propounded the theory of purchasing power parity?

(1) G. D. H. Cole (2) Gustav Cassel
(3) Ricardo (4) Edward Flilappo
Faute awd &1 fagra e wfafye fene

(1) Sfto o wIo T (2) T Fad

(3) fraret (4) TeaE e

(326) 12
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38. SDR (Special Drawing Right) is

(1) money (2) metal (3) coupon (4) fund
Wodlodo (fa¥iy ammgwwr Afrem) ¥

(1) gz (2) drg (3) FW (4) =9

39. On subsequent consumption of additional units, the utility

(1) reduces (2) increases

(3) remains constant (4) fluctuates up and down

sfafeh sal & 3@ F @y-T, IEfE

(1) =eh ? (2) Wt @ (3) fer Tt 2 (4) "t @ wgdt R

40. When marginal utility is zero, the total utility becomes

(1) minimum (2) maximum (3) zero (4) normal
s " Ivfa = R, 4 e swfE ad R
(1) =gFaq (2) tfermem 3) = (4) =

41. The total monetary expenses incurred on production of a commodity is called
(1) real cost (2) opportunity cost

(3) monetary cost (4) explicit cost

frehl o & I W R 9 A wEw diRw = FEan 3

(1) arafas ova (2) TR @mTE (3) =few wmma (4) =¥ @

(326) 13 | (P.T.O.)
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42.

43.

44,

45.

(326)

Who named consumers’ surplus as buyers’ surplus?

(1) Robertson (2) Boulding (3) Cannon (4) Chamberlin
I9IRH Sd B shal sEa W AW R ey

(1) Te&d|a (2) =feen (3) HH (4) St

In the initial stage of production, which law of returns applies?
(1) Law of Diminishing Returns (2) Law of Increasing Returns

(3) Law of Equity Returns (4) None of the above
Iaared it I ofawn ¥ wN-w Iafe & faw g g 27

(1) 3cafa @ fram | (2) seafw gfg fram
(3) Iafa awar fem (4) IRF & d wE T

At break-even point, cost is

(1) equal to sales ' (2) equal to safety point
(3) equal to profit (4) equal to loss
wn-frede famg W, @ 2

(1) fosft % ammem (2) g fag & WeR

(3) @9 F TR , (4) TH & sRTER

Reserve Bank of India was established on

(1) 1st April, 1935 (2) 1st January, 1948

(3) 1st April, 1951 '(4) 1st January, 1950

14



46.

47.

48,

49,

(326)
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ford o offw 3fem A wurrn frm fofy = g7
(1) 1 3=, 1935 (2) 1 S=ad, 1948
(3) 1 ==, 1951 (4) 1 a8, 1950

On recommendation of this committee, Regional Rural Banks were established in India

(1) Tandon Committee (2) Sachar Committee

(3) Narsimha Committee (4) Gadgil Committee

™ gfufa A fawfm w, @ § &efln anfo S 6 e f o o

(1) = afife (2) &= afafa (3) e affa (4) mefie afifs

In which year the Industrial Finance Corporation of India was established?

frg ad 4 g sfenfre fam fm & v g€ oft?

(1) 1978 (2) 1956 (3) 1976 (4) 1962
Prior to the World War I, the monetary standard of world economy was
(1) Gold Standard (2) Silver Standard

(3) SDR (4) Dollar

o favagg & ued, fava snfesww w1 qgmm o

(1) woi o (2) W4 AN (3) THoF oo (4) R
On which date the International Monetary Fund was established?

(1) 27th December, 1944 (2) 27th December, 1945

(3) 23rd September, 1944 (4) 23rd September, 1945

15 ; (P.T.O.)
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st gz A fem ffy = warfye fem mn ot
(1) 27 famen, 1944 (2) 27 femwr, 1945
(3) 23 faam=nr, 1944 (4) 23 fa@=r, 1945

50. The Central Bank of India is
(1) Central Bank of India (2) Reserve Bank of India
(3) State Bank of India (4) Union Bank of India
YHd F F4E 9% B
(1) &=a % % e (2) fod 3% % sfem
(3) e d& 1w 3fem (4) gfma ¥ A 3fem

51. Agriculture Refinance Corporation was established in India on

(1) 1st July, 1963 (2) 1lst July, 1962
(3) 2nd December, 1962 (4) 5th June, 1964
wa # Ff qafe fom A o il e gl

(1) 1 g, 1963 (2) 1 s, 1962
(3) 2 fmw=w, 1962 (4) 5 [, 1964

52. The name of First Development Bank of India is

(1) IFC (2) ICICI (3) IDBI (4) UTI

(326) 16
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I 1 9y faew 9% R
(1) TS oTh oo (2) S oHflo TS 0T 0 3TTE 0
(3) oo o (4) Yodtoamso

53. “Money is what money does.” Who gave this definition of money?

(1) J. N. Keynes (2) Fisher
(3) Hartley Withers ' (4) Robertson
“Har qg ® I gz @ W W g A g% oferw fEeR @

(1) So Wo H¥ (2) fmw (3) wA fazd (4) Tede

54. Export-Import Bank, as a fully owned institution of Government of India was
established in

(1) February, 1990 (2) January, 1990
(3) February, 1982 (4) January, 1982
frafa-smma d% % wd WER K QU @i aTell T F w9 A Ted gan
(1) w&@, 1990 = (2) S8, 1990 #
(3) wad, 1982 (4) S, 1982 #

55. In India, when the commercial banks were nationalised for the first time?
(1) 15th April, 1980 (2) 19th July, 1969

(3) 15th August, 1971 (4) 2nd October, 1959

(326) 17 (P.T.O.)
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56.

57.

58.

(326)

g § ugell 9 Fa Fifvicue S w1 OOFiEE g3t

(1) 15 31¥=1, 1980 (2) 19 T, 1969

(3) 15 31, 1971 (4) 2 AFRKS, 1969

SEBI is a/an

(1) Voluntary Organisation (2) Company

(3) Exchange Stock (4) Regulatory Body

el & —— B

(1) Wfesw wmeA (2) wHUEd (3) fafrma =y (4) T e

The Head Office of the Reserve Bank of India is situated at

(1) Kolkata (2) Mumbai (3) New Delhi (4) Chennai
fod d% 3w sfem =1 wum Fiew w8 fm 27
(1) et (2) gw=ig (3) =% fgh (4) ¥

Which one of the following is not a condition of perfect competition?
(1) Every one has full knowledge of the market

(2) Number of sellers is more than the buyers

(3) Sellers and buyers are in large number

(4) Goods are common

18
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frifea & @ #-d qof sRedfier & v o 20
(1) 9@% H IR & f 77 At 2

(2) Fsraett @ dem Faet ¥ o 2

(3) foban oft e o = & B9 §

(4) awqd @AW A &

In present time, which form of exchange rates is followed?

(1) Fixed exchange rates (2) Flexible exchange rates
(3) Fixed and flexible both | (4) None of the above

T A fifem o % e we B s T 2

(1) fer fafmr & (2) uiedaefa fafom &

(3) fér 3 whadsfa A= (4) I0® # A w7

Which organisation is not inciuded in the World Bank Group?

(1) IMF (2) IBRD (3) IFC ' (4) IDA

fova ¥ ayp § few dmen B wffim o fen s 27

(1) 3MoTHoTHo (2) Igodoatodo  (3) MmouHodio (4) aodiono

19

(P.T.0,)
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61.

62.

63.

64.

(326)

Section—ill
wus—II1
(Mathematics)
(vrfoma)

The value of 60% of 300 - 10% of 120 will be

300 # 60% ~ 120 ® 10% H AF &N

(1) 178 (2) 168 (3) 128

Simplify this
wa fif
7+7+9x7-45

(1) 24 (2) 19 3) 17

What will be the lowest form of ?—
3O GISH &9 F1 B I—
48 : 528

(1) 12: 132 (2) 9 : 198 (3) 1: 11

Which of the following ratios is the same as 5:7?

fr=ifea & & F9-w ogum 5:7 F gum m?

(1) 30 : 21 (2) 15 : 30 (3) 10 : 18 |

20

(4)

(4)

(4)

(4)

138

13

10 :

14
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65. An insolvent’s debts amounts to Rs 15,000 and his assets are Rs 9,000. How much can
be paid in a rupee?

(1) 35 paise (2) 60 paise (3) 50 paise  (4) 40 paise

@ﬁmﬁmnﬁ15,ooozo‘%wmaﬁamﬁ1ﬁ9,0003@%@@3:1%@
YA fRaT o1 @shar B9

(1) 35 %@ (2) 60 W (3) 50 ¥ (4) 40 ¥

66. Solve this

T hi
0-01x0-01-0-001x0-001
0-01+0-001
(1) 0-009 (2) 0-09 (3) 09 (4) 0-011

67. If ith of any number is 144. What will be 2rd of it?

afe freft @@ w1 L owm 144 R, @ 3@w 2 w0 Am?

(1) 108 (2) 192 (3) 384 (4) 360

68. Find the value of

Toq § i

(1) 3-8 (2) 62 (3) 402 (4) 45

(326) 21 (P.T.0.)
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69.

70.

71.

72.

(326)

The number of trees in a garden‘ is 7225; if the number of trees in a row is the same
which is the number of rows, then what is the number of trees in each row?

@ wid § 9g fit gem 7225 R}, IR w wAr ¥ G H dww s @ 2 R Fan B
e B, @ Y% wan ° I ) gwn w7

(1) 21 (2) 39 (3) 47 (4) 85

A and B complete a work in 6 days. A alone can finish that work in 10 days. In how
many days B alone can finish that work?

(1) 4 days (2) 15 days (3) 12 days (4) 16 days

AWB%Fﬁmaﬁ6ﬁqﬁWm§|Ammmaﬁloﬁ?ﬁwaﬂm%,?ﬁ
B %l 38 FH # fRay 7§ qu e ww 27

(1) 4 f&= (2) 15 f&@ (3) 12 f& 4) 16 f&

How much time a train of 100 metres length will take to cross a bridge of 350 metres
length with a speed of 54 km/hr?

(1) 1 mmute (2) 2 minute (3) 4 minute (4) 2 minutes

T 100 Hix @ Wwmd fft 350 fiw o q@ 54 frodte /v A TR A W wQ A
frem wwa @fi?

(1) 1 fime (2 2 fime (3) 1 fime 4) 2 fime
Simplify
o i
1.1 1 1
=X =X -
3 32 2
1.1
2 3
(1) 31 2) 61 3) 21 @4 33
6 3 6 6

22
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74.

75.

76.

(326)
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Find the value of

o9 3 FifR
2+y2+42+ =2
(1) 2 : (2) 242 3) V2 (4) 2++2

If 5 males and 6 females may complete a work in 12 days, in how many days 2 males
and 4 females may finish the same work?

(1) 15 days (2) 131 days (3) 131 days (4) 10 days

aﬁsgmam6nf%m€%PﬁWﬁ12&?ﬁ{a${m%,aﬁzmﬁm4qﬁmﬁm
w& #: frm fa d qoowm g §0

(1) 15 fo (2) 131 f& (3) 131 f& 4) 10 &=

The price of mango is Rs 45 per 100. If the price of mango is raised by 8%, then the
price of 60 mangoes will be

(1) Rs 25 (2) Rs 41-50 (3) Rs 1825 (4) Rs 29-16

m@ra"’m%aoqﬁm%wﬁmfﬁms%maw%,?ﬁ6037nﬁﬁ3m
$ma gt ?

(1) 25 %o (2) 41-50 %o (3) 1825 %o (4) 29'16 %o

A train reaches from P station to Q station in 45 minutes with the speed of 60 km per
hour. If its speed is reduced by 6 km per hour, then how much time it will take to reach
from Q station to P station?

(I) 40 minutes (2) 50 minutes (3) 60 minutes (4) 30 minutes

T @S PRI § Q R 60 fotte 3R um A AR @ 45 fie # wiuh 1 AR
Trﬁi61?$otﬁoxrf%¥iamm?ﬁm?ﬁ%,?hasoémép‘é%mqgaﬁﬁﬁmrméfh?

(1) 40 fime (2) 50 fime (3) 60 firre 4) 30 fire

23 (P.T.O.)
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77.

78.

79.

80.

81.

(326)

At which rate of simple interest, any sum becomes double in 16 years?
o duRe =W @ W S AW 16 W A g @ S 22

(1) 525% (2) 4-80% 3) 65% (4) 6-25%

Find out the compound interest of three years on Rs 1,000 at the 10% annual rate of
interest

(1) Rs 331 (2) Rs 425 (3) Rs 632 (4) Rs 396
10% 9% =« g W 1,000 %o H vyt W 67 avf &1 wwafly =9 v Hifd

(1) 331 %o (2) 425 %o (3) 632 %o (4) 396 %o

A person borrowed Rs 1,600 at simple interest of 4:5% per annum and gives that sum
as loan on compound interest of 5% per annum. What profit he will gain at the end of
3 years?

(1) Rs 56-60 (2) Rs 47-50 (3) Rs 36-20 (4) Rs 3175

TH Sfth 4:5% P YR = W 1,600 Fo IUX o1 & a1 39 TR N w0 ¥ =9 § 5%
i Tyl = WL A@ R 3 99 F o F A e o F w9 § ww e

(1) 5660 %o (2) 47-50 %o (3) 36:20 %o 4) 3175 %o
Ifa:b=3:4 and b:c=5:6, then a:c will be
Hﬁa:b:3:4'd?ﬂb:c=5:6,ﬁ\1a:c€17ﬂ

(1) 5:8 2 6:7 3) 3:5 4 5:9

The ratio of men, women and children in a city is 4:5:11. If the number of children is
176, then find out the number of men and women.

(I) 64 men and 80 women (2) 32 men and 180 women

(3) 38 men and 91 women (4) 80 men and 64 women

24



82.

83.

84.

(326)
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%mwﬁw,rr%maﬁﬁmm4su%wﬁﬁﬁﬁm176% @ W q
afgenat i g@m g HRR

(1) 64 &5 3 80 =feen (2) 32 75 3 180 #fgen
(3) 38 q&w 3ft 91 =fgen (4) 80 T&y 3 64 wfgen

There are coins of one rupee, 50 paise and 25 paise in a bag. The number of 50 paise
coins is double the number of coins of 25 paise and four times of the number of one
rupee coin. The total value of these coins is Rs 112, then find out the number of
50 paise coins.

w et 4w TR, 50 1 et 25 RV F @ ¥ 50 W F fw A wen 25 W F =
ﬁd@ﬁgﬁ%ﬁ%@m%mﬁm%ww%lwﬁﬁqﬁmu@1121’»0%,
& 50 W F frml H En 3@ Hiw

(1) 64 (2) 128 (3) 100 (4) 112

The number of students in a school is 800. Out of which 15% couldn’t appear in the
examination and 25% students have failed, then find out the number of students who
passed.

™ W ¥ oE f g@n 800 3 TWH 15% B W d Iuffum a8 8 ¥ aw 25% °m
o @ T, A T o B dEn T AR

(1) 510 (2) 350 (3) 700 (4) 620

If the price of sugar increases by 25%, then how much percent of consumption of sugar
should be reduced so that there is no additional expenditure on sugar?

oy S N fmm 25% wgdt ?, A HH F i § e wlowm = H I o afs =
R wE il @ 7 @ e

(1) 10 (2) 20 (3) 25 (4) 30

]
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85.

86.

87.

88.

(326)

Average age of 55 students in a class is 21 years and average age of 25 girls-students is
19 years. What is the average age of boys-students in the class?

(1) 221 years (2) 23% years (3) 22% years (4) 22% years

@Emﬁssmﬁﬁaﬂwangzlaﬁ%amzsm—wﬁaﬂwaﬂg193&%:%&41
i Srew-orEl 6 oftwa amy w27

(1) 221 =d (2) 231 =d (3) 221 =i (4) 222 =d

An average of five numbers is 25. If four numbers are 30, 29, 25 and 20, then what will
be the average of three large numbers?

ﬁaé@mﬁmaﬂm%%w&wé@ﬁé30,29,25am20,a‘r?ﬁwa—§rmaﬁan
ft|d T qm?

(1) 26 2) 27 (3) 28 ) 4) 29

The purchase price of a product is Rs 200 and selling price is Rs 240, then the
percentage of profit will be

T SR FA qed 200 o R qUl FFA A 240 To R, @ @ F wRwd amm
(1) 10 (2) 15 (3) 20 (4) 22

A shopkeeper bought some books at the rate of 5 in Rs 4 and sold at the rate of 4 in
Rs 5. How much percentage of profit he earned?

(1) 45 (2) 33 (3) 25 (4) None of them

@m@wuoﬁsaﬁaa@ﬂmaamsaoﬁ4aﬁaaaaam%|m
o s o i frn

(1) 45 @ 33 (@) 25 @) @ ¥ P

26
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89. What will be the next figure in this series?—
W H@en A Tl FF F I I—

4, 16, 64, 256,

(1) 324 (2) 644 (3) 836 4) 1024

90. The difference between a number and its Zth is 510. What is 10% of the number?
(1) 1275 (2) 204 (3) 85 (4) None of these
TF gE 3 IF 2 F e oK 510 ¥, A I wEw w10 weww fwen gm? (‘//lfw"\(pb'f

(1) 1275 (2) 204 3) &/ 4) T | H§ T

(326) 27 (P.T.O.)
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91.

92.

93.

(326)

Section—IV
wus—IV
(G. K. and Current Affairs)
(| [T TS SHAE ueATd )

On the basis of Gross Domestic Product (GDP), which country is the largest economy of
the world?

(1) America (2) China (3) Japan (4) India
TFd He Iag (Sodlodle) F MuUR W HH-41 29 fava ) ge@ o syeforac 272
(1) amfeEm (2) == (3) SuE (4) wwa

Which country is the largest exporter of the world?

(1) America (2) India (3) South Korea (4) China
FH-7 <0 fava =1 g wm fafaw 27

(1) mfe (2) WRd (3) <f&w wfen (4) ==

India has recently opened the participation of FDI in this area

(1) iron and steel (2) electricity

(3) multi-brand retail (4) coal

WRA 4 3 &7 ¥ Thododde f wnfied Bt ¥ & wrow it 2

(1) o @ @ (2) famg (3) wedt-srs few  (4) wwEen

28
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94. Who is the author of the book Turning Points ?
(1) Chetan Bhagat - (2) Kiran Bedi
(3) Dr. A. P. J. Abdul Kalan (4) R. K. Narayan
Turning Points J&I% % @iyl &4 87
(1) =7 wwa 2) frw s

(3) ®lo To Hto Fo 3INegH HAH (4) Mo Fo ATTAW

95. Who is the new chief of the Tata Group in India?
(1) Ratan Tata (2) Cyrash Mistri (3) Laxmi Mittal (4) Swaraj Paul
Wi o TR QU ok W 9@ wa §7
(1) @A = (2) uF@m fash (3) @efi frma (4) TS 9id
96. In which year, the Consumer Protection Act was passed in India?
wid § g ad suien wrew afufem ofm fen e
(1) 1956 (2) 1976 (3) 1986 (4) 1961
97. The First Industrial Policy in India was introduced in the year
a § wam Nt Afe frm af @ & S oft?

(1) 1948 (2) 1951 (3) 1956 (4) 1961

98. When the National Rural Employment Programme was introduced in India?
(1) November, 1978 (2) October, 1980

(3) December, 1985 (4) January, 1990

(326) 29 (P.T.O.)
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99,

100.

101.

(326)

Id A Fa TP Ui AR HRiwE dn) R T oan?
(1) T=a=r, 1978 (2) ey, 1980  (3) femww, 1985  (4) wWadl, 1990

Non-Resident Indians can invest in equity capital of Indian Export-oriented Companies
up to the limit of

W-yareft wwdta (NRI) R Frafa qee st f arar siw ¢t § 59 @ a% fafam =
T &

(1) 40% (2) 51% (3) 60% (4) 100%
MRTP Act relates to

(1) safety of investors

(2) regulation of foreign exchange

(3) control on capital issues

(4) Regulation of monopolistic and unfair trade practices
WHodNododlo Vg2 F Ty 2

(1) fafrarset 6t gran

2) frefh fafma =

3) gt frfma w e

(4) CHlrEd @on srgfed =R aEd w1 fam

Which is the Oldest Stock Exchange of India?

(1) Kolkata (2) Mumbai (3) Chennai (4) Delhi
I H 998 yUAr W faeftn sa-an 27
(1) =Hreran (2) e (3) =g (4) T

30
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104.

105.
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Which one of the following sanctions foreign exchange for import of goods?

(1) Nationalised Banks (2) EXIM Bank

(3) Reserve Bank of India (4) Ministry of Finance
freifrg & & #9 7@ se & o) freh gz wiwa w80

(1) TfaFa & (2) U

(3) fod d=w 1% 3fEm (4) fom w=wm

Which one of the following is not a technique of control?

(1) Budget (2) Disciplinary Action
(3) Policy (4) Appreciation
freaiferg d @ wA-w Faw f oo & 27

(1) s - (2) IFNEATEE FEATE
(3) +ffa (4) ST

The border of which State does not touch Uttar Pradesh?
(1) Punjab ' (2) Haryana

(3) Madhya Pradesh (4) Bihar

frg us & W wRw | T @ 22

‘(1) LEIC (2) i (3) TEAw (4) faem

This is not included in securities
(1) Government bonds : (2) stock

(3) debentures (4) bank deposit

31
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-

| wfrift # aw afRe T 2
(1) wd dgE (2 (3) sfengfirat (4) &% o

106. - Who is known as Father of Scientific Management?
(1) F. E. L. Brech (2) Juscius

(3) F. W. Taylor (4) Peter F. Drucker
AW W F TF F TG A FT I TR 7

(1) Tho %o To A9 (2) Sf&=a
@) Tho Toqo IW | (4) fiR T g

107. The best source of financing of export and import trade in India is

(1) Commercial Bank (2) Foreign Banks

(3) World Bank (4) EXIM Bank
mﬁﬁﬁaa&nmwﬁﬁaw%fa&%aﬁwmm%

(1) =nfufSs ¥ (2) faesft S (3) faw &= (4) ufFm d=

108. Indian Railways is an example of

(1) Departmental Enterprise (2) Statutory Corporation

(3) Government Company (4) Private Board
W W& T g R

(1) fomfla spm 1 (2) darfrs fom w0 (3) Gl w0 (4) Froh ew W

(326) ' 32
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109. Bata Shoe Shop is a/an

(1) Consumer Cooperative Store (2) Departmental Store
(3} Chain Shop (4) Independent Branch
e 9] g

(1) Iosfimr dgaprlt weR | (2) favmfa ser

(3) JEeTEg gHH (4) wEd

110. In a Government Company, the minimum shareholding of the Government is
(1) 51% (2) 50% + 1 share
(3) 100% (4) 49%
U 8 FA A, R f e st a2

(1) 51% (2) 50% + 1 3W (3) 100% (4) 49%

111. The period of Twelfth Five-Year Plan is
el qeadfa W fosafy B

(1) 2011-2016 (2) 2012-2017  (3) 2013-2018 (4) 2014-2019

112. In which country, there is largest number of Internet consumers in the world?

(1} America (2) China (3) India - (4) Singapur
fFe 3w # fova & ool sodie smirm g2 : .
(1) st (2) = (3) W (4) Rmmge

(326) 33 (P.T.0.)
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113.

114.

115.

116.

(326)

The main centre of ship building in India is

(1) Mumbai (2) Chennai
(3) Vishakhapatnam (4) Goa
g § wes Fmtn w1 s e R

(1) g (2) 3= (3) fowmraraem (4) T
Which is the largest State in respect of area in India?

(1) Madhya Pradesh (2) Uttar Pradesh

(3) Rajasthan (4) Bihar

ad # Saed 6 gft @ w1 wed w9 T RY

(1) wesew (2) IW WeW (3) TSRUH (4) faen
Who was honoured with First Bharatratna Award?

(1) Dr. Rajendra Prasad (2) Pt. Jawaharlal Nehru
(3) Dr. Jakir Hussain (4) Dr. Radhakrishnan

T YUH W 99 8 geitd foem man an?

(1) To T3 TAIT (2) do SEREE AEE

(3) Tlo R TEA (4) o TR

Who issues all currency notes except one rupee note in India?

(1) Central Bank of India (2) Reserve Bank of India

(3) State Bank of India (4) Ministry of Finance

34
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TE B T T ) g i S aft el A S F 2 e
(1) a=a J= % 3fem 2) fod =% afw 3fem
(3) we =% % Ffem @) fm v

The most industrialised State of India is

(1) Punjab (2) Gujarat (3) Maharashtra (4) West Bengal
a1 gatfys ot o5 R

(1) 9= (2) @ (3) WEWg (4) dfvem s

The author of Ramayan is

(1) Goswami Tulsidas (2) Balmiki

(3) Vedvyas (4) Deenanath éoswami
Ramayan ¥% @i §

(1) "Mamh gerdes (2) eI

(3) AT (4) dFmr e

Monalissa is the name of a
(1) famous novel (2) famous painting

(3) dance event (4) famous actress

rﬁwr%mﬁmmqasw%?v i ,
(1) wfag = (2) wiag f=n (3) I e (4) sfag srfiesh
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13U/101/31 Set No. 1

120. Which place is famous for Rock Gardens?

(1) Bangaluru (2) Chandigarh (3) Ahmedabad (4) Lucknow

T% MW ¥ R FN-w W wfag 27

(1) Freps @ "mg  (3) swEwEER (4) o
(326) 36

(P.T.0.)



13U/101/31 Set No. 1

Section—V
wre—vV

(English Language)

(stasft var)
[ For the candidate opting for English Language ]
[ rsft st gt are frenfalat & ford |
Directions :  (Question No. 121-124) Select the word nearest in meaning to the given italic
word.

121. Incite

(1) Instigate | (2) Incense (3) Exasperate (4) Convince
122. Astute

(1) Clever (2) Goodwill (3) Effect (4) Cunning
123. Docile

(1) Easily managed (2) Easily fooled

(3) Easily disturbed (4) Easily irritated
124. Congregation

(1) Conference (2) Gathering (3) Crowd (4) Rush
(326)
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Directions :  (Question No. 125-128) In each of the given sentences, select the word which

is opposite in meaning to the underlined word.

125. The police officer is known to be Humane in his approach.

(1) Uncivilized (2) Uncultured (3) Unsympathetic (4) Uncompromising
126. Her impetuous behaviour was attributed to her upbringing.

(1) Rash (2) Poised

(3) Sluggish (4) Quiet and gentle
127. Her modesty prevented her from making her feelings known to him.

(1) Superiority (2) Hypocrisy (3) Vanity (4) Arrogance
128. All his neighbours are aware of his acrimonious nature.

(1) Sympathetic (2) Cooperative (3) Charitable (4) Informal
Directions :

129.

130.

(326)

(Question No. 129-132) Choose the correct preposition to fill in the blanks.

The prisoner was bound

a chain.

(1) by (2) with (3) in (4) from

We will have to adjust ourselves

new circumstances.

(1) to (2) from (3) with (4) round

38
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131. Young fans clustered

the film star.

(1) round (2) around (3) among (4) amongst

132. He is finding it too difficult to cope

his problems.

(1) with (2) up (3) some (4) from

Directions :  (Question No. 133-136) Fill in the blanks with the correct form of the verb.

133. He for five hours, when they found him.
(1) has walked (2) had walked
(3) has been walking (4) would have walked

134. Were she to see you, she

(1) will be surprised (2) would be surprised

(3) would have been surprised (4) will have been surprised

135. Unless he

this office, I will not say anything.
(1) had left (2) left

(3) did not leave (4) leaves

136. If you had taken a taxi, you the station in time.
(1) will have reached (2) would have reached

(3) should have reached (4) reach

(326) 39 (P.T.O.)
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Directions :
137. (1) Temprature (2) Temperature
138. (1) Casual (2) Candid
139. (1) Embarrass (2) Envious
140. (1) Commission (2) Sufficent
Directions :

the given sentences.
141. Every one has come.

(1) Pronoun (2) Adjective

142. I was surprised at his foolishness.

(1) Noun (2) Adverb

143. She opened the door.
(1) Transitive verb

(3) Auxiliary verb

144. You always say that.

(1) Adjective (2) Adverb

(326)
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(3)

(3)

(3)

(3)

(3)

(3)

(2)

(4)

(3)

(Question No. 137-140) Select the word which has been wrongly spelt.

Allottee (4) Vehicle
Conversent (4) Catastrophe
Excellence (4) Exempelary
Omission (4) Ointment

(Question No. 141-144) Select the parts of speech of the underlined words in

Determiner (4) None of the above

Adjective

(4) None of the above

Intransitive verb

None of the above

Verb (4) None of the above
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Directions :  (Question No. 145 and 146) Change the given sentences into the passive voice.

145. Who taught you grammar?
(1) By whom were you taught grammar?
(2) By whom you were taught grammar?
(3) By whom grammar was taught to you?

(4) You were taught grammar by whom?

146. The people will make him king.
(1) He Was made king by the people.
(2) He would be made king by the people.
(3) He will be made king by the people.
(4) King, he will be made by the people.

Directions :  (Question No. 147 and 148) Mark the correct meaning of the idioms from the
alternative given below.

147. To fish in troubled waters
(1) To indulge in evil conspiracies

(2) To aggravate the situation

(3) Try to win advantages for oneself from a disturbed state of affairs

(4) To make the most of a bad bargain

(326) 41 (P.T.0.)
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148. To fight tooth and nail
(1) To fight a losing battle
(2) To fight heroically
(3) To fight cowardly

(4) To make every possible effort to win

Directions : (Question No. 149 and 150) Choose the correct sentence in each group.

149. (1) As he was late, so he was marked absent.
(2) As he is late, so he was marked absent.
(3) As he was late, he was marked absent.

(4) As he had been late, so he was marked absent.

150. (1) The boy along with his parents was present at the school.
(2) The boy along with his parents were present at the school.
(3) The boy along with his parents are present at the school.

(4) The boy along with his.parents being present at the school.

(326) 42
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Section—V
wog—V
(Hindi Language)
(fe=t wram)
[ For the candidate opting for Hindi Language ]
[ &=t wren g ey ferenfefat o ford |

;. Tefafgs w71 (1), (2), (3) 9 (4) FAF F TR-IN IRy IW A W F, i A I w

& adl ?1 3@ ¥ W | g

T ¥ yg & w0 R?

(1) | (2) IE (3) TEH (4) e
T A BA R?
(1) fsm (2) fusm (3) fawm= (4) fra=

T A ‘o’ 1 ugtgar w7
(1) =&m (2) TR (3) W (4) =m

¥ ¥ ‘g w1 vaiwaErh @b A R :
(1) == (2) <A (3) 3 (4) =g .

43 (P.T.0.)
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1586.

156.

157.

158.

159,

160.

l61.

(326)

T 8 ‘gz @ wiaanh wsg F R7?

(1) Sterg (2) TFS (3) w@fy

‘FFam T+ @ ¥ v g v W 27
(1) aw® (2) (3) S=

Wd # #@fum % ogan R & fae Se-m fadew o R0

(1) wrgHm™ (2) Tgsm (3) TS

‘el wmar # B qEu T A Iud fag ad e w=w A7
(1) @Hm (2) 3= (3) fefm

Toraw v & Iftaa § favamg R % fow odie wee w0 27
(1) W& (2) onfeas (3) IuHF

P TF g B O et & fou s wee T 20
(1) fremes 2) gfgam (3) gigsfh

T % fau ad wiweTh wse gy
(1) s (2) W (3) arden

44

(4) =g

(4) i

(4) Edehed

(4) #58H

(4) FHRSR

(4) e

(4) w=feRht



162.

163.

164.

165.

166.

167.

168.

(326)

T Q B gl 1 qgiEarE] T8 27
(1) foamm () g (@) fram

Y Gd frehes w27
(1) g9 (2) gom (3) deui

‘a1 R s 27

(1) weW (2) fm= (3) fwla

‘qus’ w1 ATl w0 R?

(1) TR (2) fm (3) fafess

W gl & A9 ded & Ius R o s wwm RY
(1) et (2) orgreEft (3) fograd

‘& & 9 @ FAgan & R 3fuw wee @ 27

(1) W—#ﬁ (2) AT (3) FHRR

e AR TR & AW F w & o wH-w v I 'Y

(1) qafs (2) qEuR (3) myfa

45
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(4)

(4)

(4)

(4)
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